C:h Rotating Around Axis Name:

Rotate each shape. Answer asthe new coordinates.

\_ 2.87).

/ 1. x1=1xcos(60) - 4xsi n(6cm
6 = Angle of Rotation y1 = 1xsin(60) + 4xcos(60)
. [ [ ]. * 2. x1=1x0.5 - 4x0.87
Rotation Formula _“ N y1l = 1x0.87 + 4x0.5
x1 = xxcos(B) - yxsin(8) 3 3 x1 =05 - 3.48
y1 = xxsin(@) + yxcos(8) ; : ' y1=087+2
In the example to the right the ~ 7 4 x1=-2.98
shapeisat coordinates (1,4). S I o S ZET
Lets find the coordinates if we 5. Looking at shape, we can see
rotated the shape 60°. that rotated 60° it isat (-2.98 ,

J

Answers

1) Rotate the shape 91° around the point 2) Rotate the shape -105° around the point
(0.0). (0,0).

3) Rotate the shape 248° around the point 4) Rotate the shape 140° around the point
(0.0). (0,0).
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ﬂh Rotating Around Axis

Name. Answer Key

Rotate each shape. Answer asthe new coordinates.

-

0 = Angle of Rotation

Rotation Formula */ *
x1 = xxcog(B) - yxsin(8)
y1 =xxsin(8) + yxcos(0) |

In the exampleto theright the g 7
shapeis at coordinates (1,4). > _r
Letsfind the coordinates if we
rotated the shape 60°.
\_

4,

5

x1 = 1xc0s(60) - 4xsin(60) \
y1 = 1xsin(60) + 4xcos(60)
x1=1x0.5 - 4x0.87
y1=1x0.87 + 4%0.5
x1=0.5-3.48
yl1=0.87+2
x1=-2.98
yl=2.87
. Looking at shape, we can see
that rotated 60° it isat (-2.98 ,

2.87). )

1) Rotate the shape 91° around the point 2) Rotate the shape -105° around the point

(0,0). (0,0).

('4:-'-7') """" -
o

3) Rotate the shape 248° around the point 4) Rotate the shape 140° around the point

(0,0). (0,0).

-4:-3
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Answers

(7.1,3.9)

(5,4.5)

(0.4,4.5)

(5,0.3)
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